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: ; C) (o
C) Physical properties -
e e o (TR i)
D) Path dependent properties Ry Tﬂ
P

T
e 93 of 144

« @ T e

Your Personal Exams Guide


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

‘ - - ‘v 'v
Your Personal Exams Guide

www.prepp.in

N

16 E

3) In a container containing ideal gas, the 3)3mast &a aAra v i, Wm
temperature is reduced to half its original value, and JTHT F7 P srar &, 7 s ay of T s ™
the volume is reduced to half its original value. What & s %7 o s &1 aY zara st #%, b
has happened to the pressure?

A) Wmm%liwwagm%
A) Pressure increases to 4 times of initial value B) 7aTa F9 FrH7 YT ar F7 vw s Sirc
B) Pressure decreases to one-fourth of initial value ) zarar ¥ ar & 21T 31 STy 2 =
C) Pressure becomes twice the initial value D) zaTa foy7 7zar

_ D) Pressure remains constant

4) A cuboid of total height = 44 cm, length and 4) F F=TE = 44 om, FaT$ AT Mars = 41 oy
breadth = 11 cm each is floating on the water. What T 9T 77 47 727 21 4% T2 #7 77 850 gy 5
is the height of the cuboid immersed in water if the @T 9T+t & g TTs F1 %375 3177 F7)

density of the material is 850 kg/m™?

A) 74.8 cm A) 74.8 cm
\_BY37.4 cm B) 37.4 cm
C)30.6cm C) 30.6 cm
D) 20.8 cm D) 20.8 cm
Sa o -
3 ,,Qq’/(-.' 'AD(/ \\\(—3 \
q(’/» & b(\ \ I\S)
-0 & AN
NS 4 4 0X<a
. L i
& Q%:f‘,\i&
& - ( \C)~v’~§(\ "\’\\'{-\\/
UALY \\/K\‘r g% = YOE
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f , the variations in the following
0

menufy i influence the functioning of
ete™

S .

e pumps

ol

pressure is less than required -
jon

' 596{!0553 in suction flow

" of mgh-density fluids

1 Use

osults in cavitation «

N iR minished

) 2}peff ormance is di
340ischa"ge flow decreases

1 Results in cavitation
; Discharge flow decreases - *
3 performance is diminished

~ 1 performance is diminished

) 2Dischargé flow decreases
3 Results in cavitation

7 1.Discharge flow decreases
2 Results in cavitation
3 Performance is diminished

5) vt f Frafafiy st # Fasmr afregTd T
F AL AT ¥ warfa w7 w2

. SR AT (A G ATATFAT 7 FH 2
2. FTF TATE (AFAA FAT) ° FHT
3. IF T ATH ATA (FAzZ) AT F1 TTATT

A) 1. gfrraee fzwr= (FFze)
2. %% oA Fg Zr T £
3. fordze vz (st ) A=A 2
B) 1. o=y fzwr (Ffaza)
2. oz warz (Fearst ) 72aT 2
3. FF Aoqraa Fw Zr AT 2
C)1.®d Ao FHZT AT 2
2. e yarz (Resst =) JzaT1 2
3. afrurme=y g (FEzaE)
D) 1. fardzs yarz (FB==rst w=ir) F=ar 2
2. gfromesy qfEwmE (FEza)
3. F AR FH AT AT E

£ Between Rankine and Carnot cycles, which of the
following is NOT a difference?

k) Camot cycle is theoretical whereas Rankine
cycle is practical

B)Camot cycle uses air whereas Rankine cycle
uses water as a working substance

CCamot cycle exchanges heat at constant
emperature whereas Rankine cycle exchanges
heat at constant pressure

ACamot cycle is Ideal for vapor power cycles
#hereas Rankine cycle is ideal for heat engines

L] of 144

b

S)Waﬂvfﬂﬁzaﬁ%ﬁaﬁ?,ﬁwﬁﬁwﬁﬁﬁwm

A) FrTz I% Agitas & watF i =% =i 2

B) F1Tz =% gaAT F1 watH A = areit F1 Frdefie
qaTd (AFFT AEAEE) FET W ITAET FIAT E

C) FTTe = fEaT ATTHTA TT FCHT F1 SATH-TETH FIAT
& spafy ¥ =% ffav 3@ 97 Fwu9r #71 9EE-ga

D) #TATZ % ATT «f¥F wFT ¥ Ao szt & srafs M
=7 FORT AT F o arEet &
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7) From the given image: identify the angle of repose. 7) fw o &, e A R A )

§
0
R
s@@‘ys
Ry F
A Al
AN AT
% )
" : ,I"‘.‘lf
&l
¢l ’7?1 a chosu
\"\J(X W
hE c
W M o
o A)a
B) Wcos a B)W
cos a
C)Wsina
C)Wsina
D)o
D) ®

8) Yarfaal F AR AU F BT e 737 7y

8) The mechanism for scaling and enlarging

drawings to a desired ratio is known as: (weerriot) it frefafer Fgerd &:
A) Beam engine A) &7 5
B) elliptical trammel B) yveTHTe (uferfteser) T
G Pantograph C) #2rms
D) fa fest #fasw

D) Quick return mechanism

9) &fas & o P 9% ¥ gIgt a9 W W fiw F

9) Identify the correct comparison of the friction force

for the body resting on a rough plane. It is given that fAsrferfaa & & i ar @t 94w 87
it is inclined at an angle P from the horizontal.
A) fiz 92 wdur > M*g*Sin(P)
A) Friction on the body > M*g*Sin(P) B) fifz 9% Hfor <M*g*Sin(P)
B) Friction on the body < M*g*Sin(P) C) fife gz iy = M*g*sin(P)
)}«F/r‘lction on the body = M*g*sin(P) D) fifz wx srefor > M*g*cos(P)

D) Friction on the body > M*g*cos(P)

5

/// '
o O
# on ™
D)
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) which of he following is a gas power cycle?
1

' Refrigeration cycle

7 B}aytoﬂ cycle
’ 3 Spark ignition cycle

p) Only 1

g) Only 3
_gyBoth 2and3

D) Both 1and 2

10) fmfafaa @ o 7 v3 f aff @ (o 7
qTERA) 27

1. wdftae = (rfrsrvor ariEa)

2, 972 FAF

3. =rd: Tfior 77

A) T3 1
B) #a 3
C) 2 4 3t
D) 1 47 2 @t

11) For a square metal plate, if ox = gy and Txy =0,
then which of the following options is true?
G(y\_’c@g
-y
o
-
Q-2
A) ox' =0y = Txy’ /'p’

B) ox’ = gy’ and Txy'#0

Gyox' =oy and Txy' =0
D) ox # gy’

11)qazawﬁmm§aﬁtﬁz%m,v%ox=ayaﬂﬂxy
=0,ﬁﬁaﬁﬁaﬁ%mmﬁmww%?

A) ox' =y =Txy'

B) ox' = oy’ and Txy' * 0

C)ox = oy and Txy' = 0

D) ox' * ay'

12) What can you say about a water tube boiler's

efficiency when compared to @ fire tube boiler with

equal features?

A) Fire tube has higher efficiency than water tube

_ByWater tube has higher efficiency than fire tube
C) Both have the samé efficiency

D) Cannot be quantified

12)mﬁmaﬁwq€mﬁmﬁm
Mﬂiaﬁﬂtﬁm(qﬁﬁﬂ?ﬁ)%aﬁﬁmﬁ
qF 82

A)anﬁwﬁﬁﬁaﬁﬁwifm
(iR g

A =@ & waw @ ft gEw ¥ whrE
ean(ufefare)

C) At 1 zeram(uffanH) wwr &

D) wfrafora 7 fran w1 wra
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13) What is the value of shear stresses at constant 13) TF sradf ATEE g m
velocity gradient for all layers in an ideal plastic fluid? ST (FTez FRE Af¥z) v fopr Sy N

A) Less than zero grar 22 Ty g,“
_B) Greater than zero A) 9T & T
| C) Equal to zero B) 97T & AET
D) Cannot be determined C) 971 % aTrar
D) AT AET AT HFAT

14) Match the following types of fluid to their 14) ﬁﬂﬁfﬁ’d TFT ’u}: ?a‘r (q;:igg) ﬁ ‘ﬂ% ﬁ'"?m

description given: Freror & gafera fifem:

M Column | Column I [ BN

31 Ideal A Shear stressis directy proportional A, TR ¥, 47 W H
" \ velocity gradient 1, e (fee) @WME

.2 12, Real B. Shear stress is not proportional velocity B T 71750 m
\\1\/ gradient ZW(W) SR 0 T g gl

3. Newtonian 1’ C. Possesses viscosity 3, AT m

4. Non-Newtonian \D. Does not possess viscosity 4. W{E\ﬁﬁ D.mil |

A)1—C,2—D,3—B,4—A A)1-C,2-D,3-B,4-A

B)1-C,2-D,3-A,4-B B)1-C,2-D,3-A,4-B

C)1-D,2-C,3-B,4-A C)1-D,2-C,3-B,4-A

/D)’1—D,2—C,3—A,4—B D)1-D,2-C,3-A,4-B

15) If a bevel gear has cone distance of 9 cm, which 15) af% TF Ja=r fra % oiF T (F1 ) 9emi,
of the following values lies in the allowed range of Y frerfarfia & & 1 & wr fraw & T e ¥ fm

values for the face width of the gear? AT i T fwr § 2
A)3cm A) 3cm
B) 4.5 cm B) 4.5 cm
Cy6ém C) 6 cm
D)7.5cm D) 7.5 cm

\?\» (d
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g piinthe DAk the appropriate answer. 1) 3T 37 i s st £ qfF i
gate with the maximum ____is an isolated IwrrfAst ¥ gar frrm ¥ gy, st T
tem at thermal equilibrium, according to the =7, wife #gaa (mdm wffafame) 77 7% g
saoond aw of thermodynamics. firam &)
A) entroPy A) ezt
1 ) internal energy B) saf® i
) work C) #rd
D) yolume D) AraaT

+7) Which of the following statements about a petrol 17) W o A1 AwA @7 g W F A A
forarforfya & & #i7 A1 F47 7 27

&) Diesel should have higher octane as well as A) St & st ¥ ATg-ATa Hiea A= A AT et

cetane number aifee
B) Diesel should have higher octane but lower B) ¥t ¥ 3 AFA A6 T #e F=ar 2T AT

C)mﬂﬁmmﬁﬁ?@ﬁamﬁaﬁ#

engine's octane and cetane rating is TRUE?

cetane number
.Qﬁk;sel should have lower octane but higher Ry
D)mﬂﬁm%w-m%ﬁiﬂmﬁmiﬁr

cetane number
D) Diesel should have lower octane as well as =R

cetane number

o

18) The twisting
when:

moment of a circular shaft increases 18) TF JRTHIX THR FT T/ m (Rafemm i) 72
AT §, I

A Rigidity modulus increases )RRt 7 T &

mmar moment of inertia decreases B) W(ﬁﬁm) i

th of the shaft increases C) o £ cfart 7z dr 2

C) Leng
D) erme #i Fsur gz st 2

D) Radius of the shaft decreases

(U
RN R o
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19) Water flows al a steady velocity through a 19)?&7%%&";;*%\

Ty
horizontal pipe with a changeable diameter. The # qrt U foqe &y (wafy %ﬁﬁfﬁﬁ)qm N ey

AT g AT g g, iy
water velocity is 2 m/sec, and the pressure is 2.5 kPa 2 m/sec & ﬁTﬁq ey 2.5kPa ﬁ%Bh%
at point A The pressure drops to 1.5 KPa at point B. 1.5 kPa @ RI7 5rar 2 fiz 'erﬁmhmﬁl
What is the water velocily at point B? ‘ A) 6 m/sec

2 . AN B) V6 m/sec

Q.5 A ")/, . W, - B
A) 6 m/sec ;_; - 24 @ D)
\ B) V6 m/sec p o C) ¥3 m/sec
C) V3 m/sec DR e ke " D) 3 m/sec
QAN
D) 3 m/sec '

20) Pressure due to weight of a liquid is independent

ZO)M“*W*WWQWH%
of which of the following quantities?

/,Aﬁﬂéterial of the base of the container A) FAT F AT £7 72T
B) Height of liquid B) 7 #t T=rs
C) Density of liquid C) &9 1 9qex
D) Acceleration due to gravity D) &R ¥ Frr mvur
21) Which of the following is NOT a component of a 21) FRufafys # ¥ = RRIEG T [ .
hydroelectric power plant? (FrraTe) 7 82
A) Water turbine A) AT axaTTT
\BfSpillway B) fRyery
L) Penstock C) AT
B Boiler - D) I

e ———— s peve——

22) Which of the following Options

correctly defines 22) Rrfrfrs 3 ¥ F A7 ey RESUREE SR
the Hydraulic Heagd? & H R Fay 29
FLAT 27
A) Measurement of height A) FH=TE %7 qae
B) Measurement of fluid flow Velogi
elocity B) a3
ATE A (FIET W A1) 7 AT
\%Aeasurement of liquid pressure above a vertical C) UF Sratu o ¥ ferirs e
i3 r T HUT AA AT (
RIRE]
D) Measurement of Viscosity D) Frefady
AT {9
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|n pressure meas

followind is NOT used?

A Bo

8) piezometer
y Gﬁ(;’)/roscope

D) garometer

rdon Tube

=t

uring equipment, which of the 23) 1@ /T F FTH7T 7 ¥ ’
: g #, Frafafte & & R T

gt favar e 272
A) T =T

B) fimirftzs
C) AT

D) #7nfize

i ———— er—

e ———————

i

For _vigtgr,[i,sing in a capillary tube made of pu

re 24)913mﬁﬁ?f5ﬁ‘rrﬁ a—ﬁ:ﬁaﬁ):‘rmaﬂ

24)
glass, what is the angle of contact? aret 3 For s oy (G 41 F1272) AT F7
A) 0° A) 0°
B) 60° B) 60°
C) 90° C) 90°
priso° D) 180°
- >
25) Calculate the minimum diameter of a steel shaft 25) 100 GPa ¥ Hisqe™ A% fefsrdidr @i 120 mm
of modulus of rigidity 100 GPa and length 120 mm TS ¥ T AT F ~Aad AT ST AEF T
such that the maximum angle of twist does not 592.6 Nm & ZiTeme Az F1 AW F9 T g
exceed 20 degree on the apphcatlon of torsional AT o (AfFErE T A f2a=) 20 T & sI&F
moment of 592.6 Nm. Q=2 g
NGRS o‘
A) 18 mm Me- A) 18 mm
o,'*\-
B) 9 mm = B) 9 mm
C) 12 mm aeqe C) 12 mm
\! eo\T
058 /
Dj20mm T =&Y 53%:€ - —g\ D)20mm
=~ 5 A& a
O

I

SR

26) A fuel with @ total

a 1250 kW engine. How muc
e burns all of the fuel in 8 seconds?

energy of of 10500 kJ is used by
h energy is lost if the

engin
J <0C
AYB00 K \—Q/G
B) 5000 kJ A
\ON
C) 2500 kJ
D) 4000 kJ \a5®" %
o®°

26)10500kJﬁ§ammﬁ§wmm1zso KW
5 g T ST 81 qfY Eor 8 e W T T AT
Zar 2, it et it 7w 2t 87

A) 500 kJ

B) 5000 kJ

C) 2500 kJ

D) 4000 kJ
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27) Which of the following applications is the direct 27) fRsrfarfara & & 3 a7 AT

RLES 1o -~
result of implementation of Pascal's principle? FIATEIT FT Teaer afromg 2 ﬁ@w S

A) Blowing of roof A) BT FT I=AT
B) A shuttle car B) U= oteet v
€7 Hydraulic braking system

C) gr=zifers afdmr faey
D) Hydrometers D) ETE"@:ﬁZT
28) Which of the follov?;n§>i;‘aﬁ exan; o RIS S ; T
ple of a reaction 2 ﬁ'ﬁ'ﬁ%ﬁ- : e
turbine? % A e zaten T T a,
A) Kaplan A -
B) Peiton B) fe
C) Francis C) wifas
D) Turgo D) =iy
29) If an element hag S s
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From the given image, which of the following 30) #t % vz 3 wreger % foomy & - Ay
30) AT frafarfan

atements are true according to Pascal's law? FXT AT FIT 7T 7
Mxﬂ’y:"z A) Px=Py=Pz
Ag)px>Py>Pz B) Px > Py > Pz
C)Px<Py<Pz C)Px<Py<Pz
D)Px+Py+Pz=0 D)Px+Py+Pz=0

i T Za13 2 MPa
31) Find the stress acting on the surface of a thin 31) =@ 15¢cm, qreTs 0.25 crr: Az AFF i
AT SH AT Fe
sphere of diameter 15 cm, thickness 0.25 cm and the ¥ Tae et i #dqg T FTF FA =
kel

internal pressure is 2 MPa. il A) 15 MPa
A) 15 MPa N 22 B) 60 MPa
B) 60 MPa o FruE?3 o8 C) 25 MPa
\e
C) 25 MPa A JOETKN T D) 30 MPa
_Dy30MPa c)é ve \©
-

e ®§ 9T F A (FIES ) ¥ =T H FART
32) Mercury is being used as fluid in a manometer, 32) T kil e 11(‘7T sl
what property of mercury mainly allows the T sn T 8, W:ﬁ?ﬁwmmm S
manometer column to be shorter when compared to AT 7 et QT F T &7

other fluids?

A) ZEFT I TAA
B high density B) z s aTey I (A I T4X)
B) Its low vapor pressure C) et Fw v (i PR )

C) Its low miscibility D) Tl 37 I

D) its high inertness
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33) Which of the following gears is identical to a spur 33) fRafafas & & = a7 m
2 A aga afE —y ¥y

gear but is capable of carrying much greater loads? agd AT A2T 4 & qory &

A) Bevel

B) Worm A) a7
_Gy Helical B) 7
D) Rack and pinion C) #feraa
D) ¥ ##7 fffa=

34) Which of the following images indicate single 34) ﬁaﬁm 7 2 a1 B e P Wt 4
riveted joints? ToITAT 872

\\\\\\\

A 77,
‘ | /

S

35) Which of the following options states the primary 35) frsfarfaa # & F a1 ey B (gfader) ¥

purpose of lubrication? STafiF IReT FqTAT B2

A) Enhances friction A) =y azTaT @

B) Enhances temperature (heat supply) B) arqHTa FzTaT & (vt i smgfd)
\CyReduce Vibration C) FI9 F7 FIQAT 2

D) Increases driving control D) grefer feor azran §

_/
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%) If we compare the compressive and tensile 36) =7 =4t ¢ ibing i
grength respectively of brittle materials with respect fizer wefeae) #t afifea (m) W;TT i W(
o tensile materials, which of the given statements is ofRF ¥ ar¥ % Fqer: *"'WW amrr)go T (F73)
o? . i '
i in shear but weaker i e s e
A Stronger €r In compression B) #fe ;
= (909 % qorqd AR qTE (o) F FA
tronger in compression but weaker i i ;
Bystrong aker in tension C) wfie (Frer) & F
aker in compression
c)We P D) 7T (2er)  Forge

D) Stronger in tension

PR

37) Which of the following is NOT a hydraulic pump? 37) firaferfera & #i UF eregifers 0 T 27

A) Screw pump A) T uT
ByClutch pump B) F 90

C) Vane pump C) a7 I

D) Centrifugal pump D) &R 9

blank? Y AT 2
s the unit of strain. _ BAfr@mERl
A) Meter A) #ieX
B) Newton B) e
_S¥Strain is a unit less quantity C) B #t 7#rE 7E 2
D) 9r&shet

D) Pascal



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Www.prepp.in

16 E ~

39) Fill in the blank with the correct option:

m has 55 teeth and

gear of module 2 M
eth, then find out the

If a driver
meshing driven gear has 105 te

center distance in mm.

A) 120
B) 320
c) 80
\ ) 160

40) Which of the following is true for Real fluid?
e

1.1s incompressible
/\ .
. }d'i}as Surface tension
\3_ Is viscous

\/k)%nly 1
\/B)/Both 2and 3
C) Only 3
D) Both 1 and 2

4@ T T

Your Personal Exams Guide

39)w@ﬁma&amﬁgﬁﬁﬁ,t\

W%WﬂﬂﬁmeﬁSS?ﬁaﬁgm\
arfer fvre & 106 2@ 31 &, A mm ¥ ¥z £ o
Tm

F |

A) 120
B) 320
C) 80
D) 160

40)%&%“%"%%32(%%
o aa 82

1. srEdreT (FHATEE)

2. Tq¥ g8 T (ATHA 29) B

3. faers

A) Fae 1
B) 2 3 3 fAf
C) ¥aw 3
D) 1 3T 2 AT

41) The forces acting on a body of mass 15 kg are as
follows:

Fx = 5i - 6 + 10k

Fy = 3i +2j + 3k

Fz=-4i+j-k

What is the magnitude of the net force on the body?

A) 19(i+j+k)

_ByToN
C) 13(i+j+k) \ %
D) 13N ’ ,\_q[,"m&
( 9," S A

41) 15kgw%ﬁ3v$ﬁmﬁaﬁaamw
5

Fx = 5i - 6j + 10k

Fy = 3i +2j + 3k

Fz=-4i+j-k

fife o et A (A Fr) F7 TR O T

A) 19(i+j+k)
B) 19N
C) 13(i+j+k)
D) 13N

P Bl EoL BT
A o
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42) For @ four-stroke 1C engine, what must be the 42) I . S G e
relation between the resisting moment (Mr) and the 337 ¥ P YRS o 3#7 r-EgrE et
average turning moment (Mav) for their resulting #riz(Mav) ¥ = T srasr Faw ZHAT mﬁm‘ v

speed graph to be as shown below?

Speed o
Speed ‘w' ——e

T T Time —s
Ayfhav>Mr A) Mav>Mr
B) Mav<Mr B) Mav<Mr
C) Mav = Mr C) Mav = Mr
D) Mav = - Mr D) Mav =- Mr

e
d Stokes 43)X3ﬂTYiﬁCGSW’ﬂmﬂ: s S = 81 X

43) The CGS units of X and Y are Poise an
—

respectively. Identify X and Y. S Y FY qEETHI
A) X — Specific gravity A) X - fafag =
Y - fafre smaa

Y — Specific volume
B) X - fafarg smaaT

B) X - Specific volume
vy - Specific gravity Y - fafare =
C) X — Kinematic viscosity C) X- #TgAnfe® e
Y — Dynamic viscosity y - graaTtaE fRenfad
ot Dynamic viscosity D) X- STAATH® fArenfad
Y - wrgaafes e

Y — Kinematic viscosity


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

Www.prepp.in

e

4@ T T

Your Personal Exams Guide

T

16 E
: ; ‘,iﬁq%mﬁﬁﬁqfﬁﬁﬁﬁ#m
44) Which of the following statements about an ideal ::)m rrc';?wn iy
; " |
g:s;:;ai)zl volume of the individual molec‘:ule is A ;:T?T;W qupd AT T AT R '
lessor than the volume that the gas occuples R L (m(’m) )
g) Motion i frictionless ) : ' 3
C) Follows Charle’s law C) a’rﬂf ¥ fm &7 q‘mﬂ' W—in B
_pYPresence of intermolecular forces and D) W Wﬁﬁ(m i N
4 interactions i i (32 91T)
o7 e # 7 PR

45) Ina 4-stroke diesel engine, the fuel u
which of the given ignitions?

A) Distributor-based

B) High energy

\/C‘fAuto

D) Distributor-less

NOT an ideal instrument

46) Which of the following is

ure the pressure inside a closed container?

to meas
A) Diaphragm Pressure Gauge

B) Inclined manometer

C) Venturimeter

ﬁ/ Piezometer

47) Fill in the blanks with the appropriate answer:
system is exemplified by a jet engine.

A) Isotherm

B) Control volume system
Ngf constant-mass systems

D) Isobaric

ndergoes 45) 45T S T #,

(o) & THCAT 2?
A) RETEAE

B) gTé Tt

C) strer

p) Refeee-T=

4e)ﬁqﬁmﬁm@azm%w%ﬁﬁ
¥ for 1w aredl ST AL 27
A)mﬁ'QRﬁ?r

B) TeReTERS HAATHIZY

C) At

pENP—— S
SZ T AT UF qorreft i 3ETEC AT

2l

A) ST

B) #vgld afeqw fawew
C) ez freey
D) srHEiE
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48) The first law of thermodynamics explains which 48) Isarrfat 1 qrer o fAwfaf & & fradr
of the following? P F7AT 37 |

) Amount of energy lost | s 75 I

m |nformation about internal energy W) sitafe 5 3 A & s

i work done " 1) & s rd

a1 &l A) &I

glu&ll B) Il &Il

c)lt&n c)1&ll

)l &l D)1, &

49) Determine the total magnitude of the vector 49) Ffer 6i + 8) FT afrror T £

6i + 8j. st e F1 XY ae A1 gUl
Assuming the horizontal plane to be XY plane.
A) 28
A) 28 B) 5
B) 5 C) 10
£§ 10 D)8
»
=X

D)8 P
Y P

: M;Jntoﬂllrthegiven 5o)ﬁvwﬁwmﬁm%mmmam

50) Select the most appropriate opti
blank. T T F
is a class 2 lever: e FATH 2 HET 2
A) Weight Balance A) Az a9«
B) Car Jack B) & I
C) Wheelbarrow C) EAEpal
D) ZATord &7 UF HAIET

of tweezers

BYA pair
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_ 3 . R
/ aﬂﬁ‘ U'$ F1|7|-5|'|‘E|' Yty -9 T ihQ‘q = .
non-parallel system of 51) o : : o iy
s to be w7 ¥ forg wges feafaat (mirfartem oy

FT7 87 W

51) In a non-concurren(,

. Hon
forces, what is the set of equilibrium conditio
orces,

satisfied?

A) 1, Froft ATAST 7T FT AW LT Frav 2
2. feft oft fog o7 THE FT AT 9 By s

A) 1.Sum of all horizontal forces are zero
2 The sum of moments at any point is zero

i AT ZeATIT TAT FT T07 opmr &
B)-175um of all horizontal and vertical forces is zero  B) 1. .t Afas o

a7 0T FT AT 9 5
2 The sum of moments at any point is zero 2. fefY %‘i;f?‘g rm l:q‘ T
| ZEATIL £l qIa 3
C) 1.Sum of all vertical forces is zero C) 1. &+t pe i lﬁ:m .
2 The sum of moments at any point is zero 2. - HTHE ) :

. T - §
D) 1.Sum of all horizontal and vertical forces is zero D) 1. ot &fa=r =i 3%??*“ 3E8 a’a}r’ﬁ:r I 9@ 3
2 The sum of moments at any point is non-zero 2. fedt ot fig o= wEm 1 oI 7T 2

52) What is the point in a hanging beam where the 52) &esa gu &0 # 72 &g siat 3w aniz I =

bending moment is zero is known as? IH T Fgd 82

A) Point of Maximum Shear A) iz sitw AfFaaT forae

B) Point of Contraction B) 9ige (% FiveaorT
_2¥rPoint of contraflexure C) utEe 3w FivermrTaT

D) Point of inflexion

D) ¥z A% s=mraa=

53) The moment of a force about a point is equal to 53) o w3 ¥ s, Ry R F ol ==

the sum of the moment of this force's component T I F FFA F @ g F ofe: Wy

about the same point,’ the above statement s true as YA T 2
per which theorem?

A) Parallel axis theorem A .

B) Strain energy theorem o iy
\2Y Varignon theorem il

D) Kennedy theorem s .

Page 110 of 144
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ok
) Ca

;“ N and the radius is 0.5 m. (I =22/7)

o 2464 N/m?
g 4928 NI
griari2 N/m?
D) 18755 N/m?

stre
i culate the shear fSMthGOUErﬂbmota 54) JETHIT AATET W2 AT AT ¥ AFA FET T
iWm,cercuuaromsssect'on if the torque acting is Rz 3w i ot €, 7fr 484 Nm 2t v

A R 0.5 m &1 (= 22/7)
A) 2464 N/m?

B) 4928 N/m?

C) 19712 N/im?

D) 18755 N/m?

I

55) Which of the following is the least compeliing 55) Arwff & & 7 adfi o & .=z A
eason to choose a single-plate clutch in a machine ﬁwuwﬁaﬁmw{fﬁ?

design?

A) Smoothness in operation

8) Amount of heat generation
E¥Torque transmitting capacity

P Speed of operation

A) fRaty g9

B) AT AT $1 AT
C)aﬁmmaﬁ;wﬁﬁvﬁﬁ’ﬁ)
D) FTer i

herical thin-walled 56) Ife X
stress on a ﬁw-mwaawmewgmvmmam

| how are X ﬂ%aﬁ(ﬁﬁ@ﬁﬁﬁ-ﬂﬁmiﬁﬁ)vg‘:éﬂ%

56)Iinsthestressonasg
pressure vessel and Y is the hoop
cylindrical thin-walled pressure Vesse

and Y related? e A
A)X=Y PP at
¥ il ;,{ c V_,(L
ByK=Y12 L o
C)X=2Y
D) X = Y + constant (;\b\/ﬁ ‘
ol \q:,@'
<~ = ¢ ¥
% i
we -~ -
o f: L\‘-\ [ 0)»Vv~~.
/ /é‘t

/’ /
9 -; / \,\/
¥ Y

@mﬁwﬁmaﬁaﬁw@ﬂiﬁ

X sl Y 3 T T R?
A X=Y

B) X = Y12

C)X=2Y

D)X =Y + R

e N
w‘mm

4@ T T

Your Personal Exams Guide


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

‘ - - ‘v 'v
Your Personal Exams Guide

www.prepp.in

A9 5
M "’
LAY

" My )
YooLaa T Tgsd geuw
. e, LA q
b N
v 57) A certain liquid rises 10 cm in a capillary tube that 57) T TR N S o X 10 Wﬁ%
A has a radius equal to 4 mm. To what height will the & frft Brsar 4 mm ¥ awraw 2t T 2y T
same liquid rise in another tube of same material, but #2forer % g =ga &, St Broar waay oy By
R - s
with half the original radius? * frf Ll i
)5 o A) 5cm
B) 10 om B) 10 cm
- C)20 cm
D) 40 cm D) 40 cm
- \
58) Choose the option that most accurately 58) 3% fa%e 3+ it Fwfrfaa Fa=t #r gy gy
represents the following statement: & zerfar &
A heat engine absorbs 1800 kJ of heat from a hot TF AT 3519 UF T4 T+ ¥ 1800 kJ Zeq7 Fasitiy
body and rejects 600 kJ of heat to a cold sink. What #ZaT & 3fi< 600 kJ FAT FT UF Frez f&fF & ety
is the heat engine's efficiency? [ 6o (Rere) T &1 AT 397 FT e (Ui for) EInE
Wiy &
< &
A) 33.37 \ ¥ A)33.37
e
/aw{ew Tcz A B) 66.67
C) 100 C) 100
D) 50 D) 50
59) Which of the following is an example of a 59) Rwffia # & Fi uF Raw Frtz T 7 W
reversed Carnot cycle? &?
A) Power generation cycle A) TTaT ST qTSHe
_ByRefrigeration cycle B) Yfthsrer wréser
C) Rankine cycle C) ¥ aréser

D) Diesel cycle D) 5t wreher
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carnot refrigeration system is 2 and so

60) if coP of
to produce refrigerant effect of 5 kW find work input
yired in K =
e
A) 12.5 b T \y’&‘\\f’ g
C) 10
D)1.25

1) From analyzing the energy fluctuation equatio
ofa flywheel, which of the following conclusions can

one arrive at?

A) The fywheel will be large for low fluctuations in

energy.
B) Fora high-speed engine also, the flywheel will be

larger.

C) For similar fluctuations in energy, the flywheel

can be smaller if the system tolerates speed

fluctuations.

D) The coefficient for speed fluctuation in @ flywheel

is not limited purely by physical constraints.

62) Fill in the blank with the appropriate word(s) from

the options given.
When a clutch plate is
fiywheel and the pressuré pl

,itis held between the

ate.

A Single
B) Double
C) Engaged
D) Disengaged

:f(;;f;w?ﬁm%smﬁmmcopza?hska
R 3T A O £ KW AT AT 5
Elckadl

A) 12.5

B) 2.5

C) 10

D) 1.25

61) T FATERR A
wper) ¥ AT A,
ST AT 27

ﬁqﬁ%ﬂﬁﬁmmﬁﬁﬁm

A)m’rﬁaww-aaﬁr (=T rﬁﬁﬂ,aﬁ)%ﬁﬁm

TS AT el
B)Giﬂﬁinﬁéiﬁ'a*ﬁf‘l
C) Tt & FHIA IATC-AETT

af foreew wf ¥ SATCHEA

qerrEeder e & w8
D)@Wﬁﬁﬁﬂ-ﬂﬁﬂm(m

mﬁ;ﬁgmsm)ﬁs@ﬂﬁm

m(ﬁﬁﬁaﬁ@)ﬁw“ﬁ%l

ﬁwﬁ%ﬁﬂmg‘ﬁm

(ﬁuﬁmqaﬂvm)%ﬁm,

62) kg : v 7 3 3R o=

gf¥ Ffer
1 FAA W m%,ﬁzﬁwﬁ‘%ﬁ?ﬁtﬁﬂﬁ

ooz ¥ e 7 T AT 2

(vt e Y

A) fire
B) =&«
C) UiSE

D) fewdise
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§3) Fillin the blank with the app
the options given.

For a body placed in
direction.

afluid, the puoyant force

actsinthe

A) Forward
B) backward
) Jpward

D) downward

relation with the

64) Identlfy the correct theorem in

statement given below:
wwhen three forces acting at a point are in

equilibrium, then each force is proportional to the

sine of the angle between the other two forces".

A) Hook's Theorem
B) Castigliano Theorem
C) Von mises Theorem

<D)yLami's Theorem

ropriate word(s) from

always ﬁﬁfé%@'ﬁg?ﬁﬁ'ﬂmﬁwaﬁ@m

4@ T T

Your Personal Exams Guide

GS)WWWﬁﬁﬁaW,(wﬁh g
UL
qﬁzﬂﬁr‘fl

Frory 3 FTF FLAT 2 —#

A) @i
B) &
C) T
D) #r

64) "wq*ﬁg%*rﬁ%ﬁaﬁ:ﬁwaqm
(fRrtrw) & &, A T A A A A F A
£t o (A7) F FACTATA AT &1 IV T A g
AT & ST AT 27

A) g% FT THT

B) FfRzfieremar w77

C) at= fa&w w77

D) ST T 7T

65) From the given sets of statements regarding

manometric fluid, identify the incorrect statement.

A) Kerosene can be used as a manometric fluid
B) Saline can be used as a manometric fluid

() Atcohol can be used as a manometric fluid

D) Water can be used as a manometric fluid

65) AvTafT wEe ¥ ey § fu T FAAr F {0
o fit 7= H

A)ﬁ@%%ﬂ(%ﬁiﬁ'ﬁ)mmﬂﬁﬁﬁ%ﬁaa%mﬁ

fFarsraFar &

B) SN (FIETE) T ITART AAIATEE 2 % A

ST HHAT B

C) szt 1 JrAvT Avafyw 7 %« §

qFar g

D)wmrmmﬁ%wﬁﬁmmmé
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) interpret the following statement to accurately
gentify the correct option:

avhen heat is converted from one form to another,
some energy is lost. As a result, the total heat
provided to a system does not equal the work

performed by the system.”

A)'"T)rle statement follows Clausius statement of
second law of thermodynamics

B) The statement follows the first law of
thermodynamics

C) The statement has enough information about
radiation

D) The statement depicts information about the

seroth law of thermodynamics

67) From th
belong to flat-belt drive and V-belt drive.

list given,

|.It has a trapezoidal cross-section
_lL.The beltis hinged
Wt is used for long distance powe

IV.It is comparatively expensive

r transmission

— Flat-belt drive — 1l and 1
_V-belt drive - |and IV

B) Flat-belt drive — | and Ill
V-belt drive -1l and IV
C) Flat-belt drive — Il and IV
V-belt drive -1 and Il
D) Flat-belt drive -1 and IV
V-belt drive - Il and Ill

identify the features that

66) Faerr 1wt gt A7 o Pt £
ST A

'S S UF w A g = § afrafda g, A I
St @ AT ) werere, e i oaEE T T
e ferersy et fv A o A T AT 2

A)u%wwrﬁﬁ%ﬁﬁﬁ?ﬁw%wﬁﬁﬂm

B)ﬁmawﬁﬁ%mmﬂmwﬁ’f%

C)ugmﬁ‘rf%v_m‘afaﬁ'ﬁw‘mmrﬁ%

D)ugmﬁmﬁﬁ#oﬁﬁaw%aﬁﬁm
EIEERE S

gﬁasﬁtv-avzgﬁa%d—éﬁhén

| Ed UF FHGETRIC HIEA FE (Fasiz=s HE-
Faer) &

Il ¥z Fss 8
|||.mmdﬁ§ﬁaﬁﬁmﬁm%mﬁm
ST 8

V. TE TEAATRE & & T R

A) wrz-¥ez grEd - 1l Sl
V-¥ez grEd - | SRV
B) we-Fez g1ed — | Al
Ve grea - 1SRV
C) wiz-aez 3rEd — || ATV
Ve grEa - 1 Sl
D) wrz-wz 359 —| T 1V
Vs 3rEa - LAl
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68) The screw jack is an application of which of the 68) % 3%, Ruffta ¥ & w e
‘ F TRy

following simple machines?
K nclined plane

B) Wheel

C) Pulley and Axle

D) Wedge

69) Calculate the gauge press
mercury ball of radium 4 mm,ifth

mercury is 0.465 N/m.
A) 0.465 bar
/ér 465 bar «
_Ry465x10*bar A
D) 465x10- bar

VS
\)E\/’ ¢ El,
\
( L.'*
0\/

Page 116 of 144

4
A) T 7AE (TTERE )
B) wfRam (=)

C) reelt (7¥ft) e e (e
D) = ()

ure in bar, inside a 69) AfX T (FTHEY) FT I8 FATH (FTHT For) 0,465

e surface tension of N/m &, 1 4 mm i 7% 77F a7 ¥ 377, bar & 1y
TATF FY TOET FL

A) 0.465 bar
B) 465 bar

C) 465x10° bar
D) 465x10° bar
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ored ball bearings, which of the followin
f A 7 A A AT A

0 F
jagre™ represent the load bearing capacity?

Key:
g

il load

L 'J“

B)

w ]

rocess

71) In a diesel cycle, what is the proper p

order?

A.Constant pressu
tant volume heat rejection

re heat addition

B.Cons
C.Isentropic expansion
D.Isentropic compression

A) ABCD

N
B) DCAB
c) ACBD

BYDACB B

EWW(WWW)?&WW%?

T Radial load

-

Axial load

e —————

- e —
71)mwﬁ,ﬁmmw§?

A FEE JITEE ufeud

B, ez Fteqw ge R
C. AR T

D. SRR FT

A) ABCD
B) DCAB
C) ACBD
D) DACB

4@ T T
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72) Convert 60 g cm/sec? to Newtons.

72) 60 cm/sec? Ft %h

A) 0.06 N A) 0.06 N
B) 0.006 N B) 0.006 N
LCH.0006 N C) 0.0006 N
D) 0..00006 N D) 0.00006 N
?(ié,{’é o
d 73) For a stretched metal wire, which of the following 73) @t g% 4Tq =17 ¥ form, ﬁ'ﬁﬁﬁﬁ q T(:*;;zr_ﬁ;
s correct? A. T8z &1 ¥ fiFs T T o e e o
A Stress is force applied on the body per unit area B. ©H ¥ ZaT7 (3917) 79T
B. Stress and Pressure are same C. & HiAleH & Falk 77 (o) amehy 5 was
~C. Stress is internal whereas pressure is external HHTT THIAT F £
even though they share same units
A) A 9 B 2
A) Both Aand B B) C T B &t
B) Both C and B C) ¥aw A
C) Only A D) ¥4« C
\ DyOnly C
74) How many degrees of freedom does a four-bar 74) ®i-aTe foier # i =aft sw s S5 2
linkage possess? A)9
A)9 B) 8
B)8 C)4
C)4 D) 1
v
r
o
; ,C;'\\/
Qﬂc\/e/’
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75) which of the following statements are an

description of elastic limit?
p to which the material remains elastic

acCUrate

«mhe pointu

g) The point up to which the stress and the strain

are directly proportional

C) The amount of stress present in the material

pefore the permanent deformation

D) Maximum stress the material can withstand after

permanent deformation

ven principles is the strain

e ——

P

76) On which of the gi

gauge based?

A) Change in pressuré with change in volume

_ByChange in resistance with change in length
C) Change in pressure with change in length

D) Change in temperaturé with change in voltage

75) fRafafea o @ 71
T4 o A e A -
Biary o5 frfaz w1 adw
A) 7% fifg gt o ward A (FfeE) 7 R
B) % fig rgh aw e s e oty A A1 2
C) werret Fareor (rearz i) & T T H AT
= it A
D) wft fAEqu(TATAE yriom) F A7 T A
T Fava T oA S

B

76)@#%%%«3{%@
A)Wﬁwﬁaﬁ'«r%mmﬁq&aﬁa
B)ﬁaﬁﬁw&aﬁﬁwwﬁﬁﬁqﬁ?ﬁ
C)éaﬁﬁtr&a’a‘ﬁmaaﬁﬁw&aﬁ?
a@—«rﬁqﬁmaﬁmmﬁw

D)
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77) From the given image of the characteristic curves 77) TF HEwqrer h

of a centrifugal pump, i
)

b — .

Hu,d,"a"nre Pawer , Etficisncy ead

Net Positive Suntion Head
i\

dentify 1, 11, 1l and IV.

{ DISCHARGE )

RRIARCRE LS R NN ,vﬁq;m"%- \

5 R

———

Ne! Posltive Suction Head

Heod, Broke Power, Efficiency end

PUMP CAPACITY

] BUMP CAPACITY

A) |.Net Positive Suction Head

t Dlscm

A) |. 7z uiffes geer 2=

Il.Head . g
Il Efficiency . oftkforat
IV.Break Power IV. 5% TraT
' /_B’ﬂ'Head -~ B)l..g®
I1.Efficiency / Il ufsforaet
I1l.Break Power ~ Il 3% 9rav
IV.Net Positive Suction Head IV. 7z gifsfes qaem 2
C) V.Efficiency C)l. ufthforuey
VI.Break Power Il. 3% 9rax
VII.Net Positive Suction Head . %z gifsife werm g
Vill. Head VA
D) I.Break Power D)l. &% 9ma}
II.Net Positive Suction Head II. 7z uifsrfea werm 2
II.Head ln. g
IV Efficiency IV. uftsfort
__’-/"
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m{dl’OSta 4 tlo Of 8) 3 27 ET c 1 1 f T
= I }:I i FE K ED E X :1 (s AT AT

& forces acting on a fluid element?

e
ﬁﬁro
g) €
o) Less than zero

0) Greater than zero

79) If on€
pressure
ey subject to?

A lthasa complicated construct

B) Itis expensive to build

c)it is not suitable for medium-pressure

measurement
/aj’lt/ cannot be used to measure vacuum pressuré

range

80) The shaper machine's four-bar mechanism is as
follows:
A) Rocker - Roker
B) Scotch Yoke
uick return

D) Watt's indicator

81)
B is the surfacé tension O

If A is the surface tension on a liquid droplet and

n a hollow bubble, which of

hows the relation between

the following expressions S
A and B? | ?/ %}/
=28 aG k-
B)B=2A “ qﬂ
c)A=4B
D) B =4A

were touse a piezometer to measure fluid
s, which of the following disadvantages are

81) afz
d@rgal gagd T 9 T
mAﬂTB%m%ﬁ'aﬁzsﬁmé?

T )
A) g1
B) 7%
C) 77 # ¥
D EREEE

79)uf2ﬁ%aammzz‘am)mﬁﬁm&mﬁv
aﬁrmﬂm%ﬁr%ﬁaﬁﬁﬂﬁ#mmﬁ’%
A) et T e €

B) farfor FT HET &
C)agmwmm%ﬁrqmzéf%
D)mWWmﬁmﬁmﬁ%%ﬁrﬁw

T AT 2

=

BO)WmﬁwWﬁ(—m%uﬁﬁ'?wsz
A) T - THF

B) &= ATF

c) fa fed

D) arem ifRFE

Awaaa“?r;ﬁﬁqawr{gm%»ﬂvsm
3 o fsfarte & & 91 A

A)A=2B
B) B =2A
C)A=4B
D) B = 4A

Page 121 0f 144
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82) Calculate the module(M), addendum(A) and 82) 7 iz ¥ witeg (M), sz () A Ay iy
working depth(W) of a gear, whose reference pitch #I T %%, Rrerft Yt st 77 wmt 11 1y 3

has a value of 11 mm. Take pi = 22/7.

A)M=3mm
A=15mm
W =6 mm

_BfM=35mm
A=35mm
W=7mm

C)M=7.7mm
A=0.77 mm
W=15mm

D)M=25mm
A=25mm
W=7mm

pi=
22/7 &

A) M =3 mm
A=15mm
W=6 mm

B) M =3.5mm
A=3.5mm
W=7 mm

C)M=7.7 mm
A=0.77 mm
W =15mm

D)M=25mm
A=25mm
W=7mm

83) A glass U-tube open on both sides, with one arm 83) f&rsat r s firsa 4r TS A ATE F G 0F
of radius r and the other arm of radius 4r is being filled TEEF T AR A i S m e y wr Wi

with water from the thinner arm in a rate such that the Taar f% ¥ areft £t T F 31 h mis 2,3 it F
rise in height of water in thinner arm is h m/s. %=z 4 AT FL|

Calculate the rate of flow of water.
\ LA h*mrr2

B)25'h'mz g

C)17*h* 1 *r2
D) 16*h*rr*r2

A) b2

B) 25*h*n*r2
C) 17*h* 1 *r2
D) 16*h*r2
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1o

given five samples of a liquid having a

g4) If you are
fixed e
heig
capillary tubes.

A 8

nsity, identify
hts the samp

84) T STTRY 1 R e AT e e B

the increasing order of the U &, & 7AT %t frwfarf
les will reach in the following & Fw #t - o B & S
TEA F:U

i't

.
! l

|
[
|
!
|
g
%

A)ABCD
B)DCBA
C)ADCB
D)CBDA
85) If a force of 15 N is applied axially to a steel bar gs5) afz 15 N ¥ 9, 2 m warE #T 20 MPa ¥ T
of length 2 m and with a modulus of icity equal eI At ¥ e A W e T ¥
{0 20 MPa; calculate the elongatio_rlg[thi/sc"/cmarly AT ST & T TR T & T e afaw
tapered bar have end face diameters as 05 mand fd F = Far: 0.5 maAT04m 3, s (TwTirer)
0.4 m respectively: Take pi =3 a7 &% pi = 3 -
A) 0.01 mm A) 0.01 mm L ™
) = \()\“ L(((,{\ﬁi/ AQL/‘ . *&.‘,t
B) 1 mm— ¢ o B) 1 mm “ waﬁo.
N et 4 €) 0.01 cm s OF
C),Q’ D) 1 /ﬂ( { [/; p g}_v/_
cm
) / \ o ’(‘L/
q -
f (1 (hal
. < X
\)(*\é’i,:gxz — 0 NAR o
e /,(\0"’(0:(}1 N

480
N
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86) The gauge pressure at the bottom of a water 86) qTHt F EW (FEw) a\-mw_m
column is 3.76 _bar. What is the height of water &1 areft 3 = A FATE AT #F (o=

- i =
column in meters? (g=10 m/sec?) (atmospheric (arg'n'af«ﬁ’:aarq'= 1.51 bar)

pressure = 1.51 bar)

A) 2.76 metres

<3 4
B) 22.5 metres m\‘j‘-{\ 6, \
P \' 27 # 17
_€)37.6 metres /7( 9, %

D) 25 metres

¢ T O

Your Personal Exams Guide

A) 2.76 HteT
B) 22.5 #tev

Dy 0% 4
o R 1277 c) 376 e

D) 25 #zT

87) The hoop stress on the walls of a thin cylinder is 87) TF et e 1 AT T 5T A 42 Mgy, -
42 MPa. The diameter of the cylinder is 84 cm and T =T 84 cm # Hrer€ 1.5 cm §) %ﬂw’?
the thickness is 1.5 cm. What is the internal pressure T4 (32TT J91T) AT FL ‘

of the cylinder? <t aut 9

z:‘;
5Py = (}{\.C"/
4

B) 2.5 MPa e
C) 1 MPa “%d
D) 3 MPa

A) 1.5 MPa
B) 2.5 MPa
C) 1 MPa
D) 3 MPa

88) Which of the given options refers to a lower pair 88) fu o fAwedt & & FA-A7 FrEAA(H TW 8w

in kinematic pairs?
\}e)’gake shoe

B) Cam shaft

C) Ball bearing *

D) Chain Sprocket .

o (WA JaR) H zertar 82
A) 7% L

B) ¥ ATHE

C) afer agfar

D) 37 &i¥e

4—//

89) Which of the given statements is correct

regarding the primary function of a draft tube?

A) Reduce the pressure at the end of tube
\animize the loss of kinetic energy at the outlet

C) Allow cavitation '

D) Allow back flow

80) T =g ¥ Frd 3wy & Ry A AT
I R?

A) =& ¥ oq § gaTa F9 T F [0

B) stz e Tfiet it 3 AT

C) i (Ffarer) i safa ¥ AT

D) FeeT ATz (A ) Y srgata ¥ T

’
S

/
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s6E
hete nenergy transfer” refers to the exchange  90) erez "3t i (arsi ziereer e st (ein
9 . ! d SR LR ) T T
| enerdy petween two Systems via thermal Fz¥aer) 3 wrern @ 41 farre ¥ A 5t W(W
nteraction" Y Ffa e
cat transfer A) &1 TEERT (FEAT ZET AT
p) Pressure change B) 91T A (314 # wivadw)
¢) Work transfer C) @ ZHET (F14 ZFTa7m)

D) Moment transfer D) Wiz Ziae (WHz ZFATA7m)

—

91) Which of the following is true for a refrigeration 91) wefta® =% (rsﬁmm;qéa;r;;ﬁ;ﬁaﬁﬁa‘fr ~’-~—-r~ ;i;
cycle? I a7 e a7 27

A) It operates on radiation A) 7 fafaor a7 Fm Far 2

B) Itis based on combustion cycle B) 7§ & oI T SAUTHA 2

C) It uses cryogenic fuels C) Tg FIATHAT Eu FT ITAT F741 2

/D)/Work is done on working fluid by compressing it D) Fraefe & 7 G 6 =7 T FTF AT A2

92) The link with 0 degrees of freedom in a four-bar 92) BrR-aTe s & 0 R freras E A AEE

system is known as which of the following? e ATH & STTAT ST 87
A) Coupler A) FITL

B) Crank B) #&

C) Floating link C) weATfeT o
/D)'F/ixed link D) forres foi

93) In the given image, what kind of stress are the 93) X wu o #, e v s 3 w2 T s F2 =T

bodies experiencing? EY
T e
e pe———— = glve - — oy S i
A) Tensile A) FTER
B) Compressive B) TeIfR
C) Elastic ) = :

Q,Sﬁ'ear D) forre

« T
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e

a4) When heat released by

than the )
then which of the given combustion OCCUrs
A) rapid

B) spontaneous

C) complete

DyeXplosive

95) identify
=1, Pelton

rancis

(ry

. H
. Propeller

' A) Only 1

B) Only 2

_oyBoth 2and 3

D) Both 1and 3

(5]

heat required for ignition of the substance, ¥ far syaems seqy & i drfr

the reaction turbine from the following:

a substance is higher 94) st ﬁ;;ﬁm

TR ¥ oy
TN AT AEF Fyar 39 :ﬁﬁ”-“ﬂmﬁ%
A) A (M)

B) aestur (zatexfamr)

C) ot (Fwrefra)

D) fAedes: (wereiifira)
YL TR ———
1. 9eaq

2. wifas
3. IeT

A) Fa 1
B) Faw 2
C) 2 3% 3 Ft
D) 13T 3 ST

96) X is the part of the single plate clutch that helps 96) X ffivre @z o= #1 Ream 2 &t w3z T ¥
to provide damping actions against torsional (TS ATH) F vy IRT=T T TER I d
vibrations. Y is the part of the single plate clutch that FzaT 81 Y firer @ 7o %7 38 Rem & R e
heips establish even contact with the driven plate %R ¥ T a0 &7 ¥ TUF AT 47 ¥ 728 70

facing. What are X and Y?

A) X - Release lever
Y - Disc plate
B) X - Disc plate
Y - Pressure plate
\C}X~ Pressure plate
Y - Clutch cover
D) X - Clutch cover

Y - Release lever

—

g XRY H|TF?

A) X - Refter e
Y - R wre
B) X - few @iz
Y — Q9 WA
C) X — 99T e
Y - F9 FAT
D) X — &9 FaT
Y - ffte draw

Paae 176 nf 144
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intended to cool the engine a |
nd 97) aaft dgat (fr &1 7
) 1 IRT A I HA 7

are
o™ |.
. skdowns, 0Vercoo ing can cause a vari
st . vrily Tty 4, e v o 7 e
oS- which of the following statements is NOT a1 “ % '
o8V g W*ﬁmélﬁwﬁﬁﬂwﬁﬁﬁmmm%?
efor 1S
A) S AT & S (FTAA) o @
3 Lower temperatures are prone to corrosion B) awra (nff f) if et
/ » .? p )
g) LOSS in efficiency R —
20 St;ning the engine gets difficult D) fi e R ‘ —— m x
D) Friction petween piston and cylinder increases |
98) A body is sliding in a plane in the direction of unit 98) T fife wF @A & 7S aRa K=K £ from # fFA
vector K = K, what is the direction of friction force T&T & fife AT ey sy e A 2 A F71
acting on the body?
ctors. m‘%aﬁaﬁ%ﬁum#ﬁ(éﬁé Frzor) F D

Assuming the standard notations for the unit ve

Al Al

B) -i B) -i

Ok C) K
pri i

99) Ifwt;\-;basé circle diameter 1S 49 cm, calculate the 99) af¥ 3 T AT 50 om &, Y 30 FdT et fra ¥
circular pitch for @ gear with 22 teeth. fore, e fO i rort

A) 7cm

T om LAt o

B) 9 cm /. A Bj R

"LRE. rY
16 cm L2 L

D) 3.5cm
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100) An object that was dropped into a tub of water

100)Wﬁ%aﬁfﬁm‘ﬂémaﬁﬁ§.§mﬁ
' T

was found to be floating. What does this say about IeATa® a1 (a1 ) ¥ Feawy & T 2077y 49

the buoyant force?
\_A) Buoyant force is equal to object weight
,hf’Buoyant force is greater than object weight
C) Buoyant force is lesser than object weight

D) Buoyant force is a constant

A)Wﬁﬁ%w%wamg
B)mmﬁ#wﬁmmg
C) IewTa a1 A= F AT A FH Era1

D) IeeATae 7 U foureiF

101) Select the option which fills the blank most
appropriately.
is the magnitude of a 3D vector Q = 5i-
3j+7k.
C),%"* a AN
A) V38 '3'9)'
B) V65 -

7783

D) V90

101) Wﬁmmwﬁﬁmmm#h
TITH T A7AT 21
— UF3D T Q=5i3+7k F R

A) ¥38
B) V65
C) 83
D) V90

102) In which of the following scenarios is the center
of pressure of a submerged body equal to. the
distance of center of gravity of thé body from free
space?

A) Vertical plane surface

_ By Horizontal plane surface

C) Forward inclined surface

D) Backward inclined surface

102) Feffaa ¥ & R e f @ g gn s
TATT F% (§2T A Y3), G = F e F e
F7 (FeT o A i g F I Far 2

A) S99T TR §dg

B) &fdsr wwae wag

C) st g7 g€ we

D) & #t s gt g€ wag
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6 €

’ )Which of the following is a desirable quality of 103) gragrfers fiee & Az g ;
an acval working substance for transmitting load in T — (;'“Iaa (@) ¥4 F A
THAA Ff¥r FemeE) w

a hydraulic piston? atetia o s ¥ & AT &7

1. wear Resistance 1. SRR e

9. Infinite bulk modulus -~ 2 e

3. High Compressibility 3. wg A= ( aré )
j Ay Only 2 A) ¥ 2

g) Only 3 B) ¥ 3

C)Both1and2 X C)13ﬁ“<2a=ﬁ

D) Both 1 and 3 D) 13X 3 G

[ - S
104) Which process efficiency is stated in terms of 104) ¥ = HIST a7 T FH (i " EsciEn
the thermal efficiency of a steam turbine determined # arfer et (T uffrdd) F st & e AT THAT
using the Rankine cycle model? ZeaT (T afsfRrdd) FAtE T E?

A) Isenthalpic \ A) FHATEF
_ByTsentropic D EGEALE

C) Hydraulic C) ErEsia®

D) AR

D) Volumetric

.,”// L ———
n of 105)ﬁaﬁ%aﬁawwﬁ%mﬁﬂzﬁam%.

fers to the collectiol

:E)g)_gv-f:l;h of the following rée
particles, whose relative distances aré constant? Ry aTaer Tﬁ R (m) 2
A) Flexible pbody A) wXfFae Tt
/B)«Rigid Body B) fifsre EIEL
C) Fixed Body C) frree Tt
D) et atet

D) Stationary Body
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106) Which of the following characteristics of a
reaction turbine is false?

\A) The wheel passages are partially filled with water
B) Water enters all around periphery of the wheel
C) The wheel utilizes both potential and kinetic

energy
D) Water exerts pressure on the wheel that is
greater than atmospheric pressure

106) ﬂ-@mmﬁﬁﬂm

T 37 Iﬁ&%

A) SRt ST i = & o & e

B) iR ¥ TR 3 12t A Tt et ey o

C) R fRafitr 3t st T Tt 2yt oy
g

D)Wwﬁqwmﬁtﬂﬁwm&mmm
¥

3'q~q‘m

107) Fluid rise in thin capillaries, also known as
capillary action, is the virtue of which fluid property?

A) Mass

B) Kinetic Viscosity
) Surface tension

D) Temperature

107)wa%%ﬁaﬁaﬁﬂ-sgmﬁ%r%ﬁa-&@m
mﬁﬁmmg,aa%ﬁfaﬁmwgwp

A) F=HT

B) FTefes faenfady
C) T8 T (a3 F9r)
D) arq\ =
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ven, identify the vari
various types 108) R fapy
b A fafrs s 3 .
' s (o) B ET

D- Atmospheric essu
()A-Gauge pressure C)A-
g - & REIRS
¢ - T T

g - Vacuum Pressure
C- Absolute Pressuré .
D- @Wﬁ“ (M) e
o)A~ e () EAl

D- Atmospheric Pressure
D)A- Atmospheric pressur® R
B - Gauge pressuré ;- 4 A<
o e et

¢ -Vacuum pressure

_~aire
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B

109) Which of the following options is the most
appropriate for the situation? A ball is attached to an
L-length string that is secured at the opposite end 0.
The ball is then spun around the fixed-point O at a

constant angular velocity.

A) The Ball is at equilibrium with respect to the

center as net force is = 0
B) The ball is at equilibrium as no force is acting
€Y f'angential force is responsible for circular motion

D) The ball has only one component of force

110) According to pure bending theory, which of the

following claims is factually incorrect?

/A‘)'Eﬁry layer has a different center of curvature
B) Beam material is isotropic
C) Beam material is homogenous

D) Permissible stresses are under Elastic Limit

109) Frafarfer & & i o Frvey £ op
WWW*"W#L-WM%%
5ﬂﬁvﬁwﬁ*0wwﬁnlmw%ﬁ> T

103

ﬁf%ﬁﬁ'ﬂﬁ'ﬂfﬂ(w"ﬁvaﬁvthj“
¥

A):‘h%ﬁa%fw‘aﬁmﬂfﬁﬁﬁmw%%
T =032 -

B)ﬁww%ﬁﬁﬂmaﬁpwé

C) Fifoagm wrH, TAT TRA(TEA ) 5 &
FATETAT 21T 21

D) iz # 7 T FAA T FEA 21T 3

110)anf=’1r mﬁ?mrr vaﬁrﬁaww Ty
ITAT AATHT =7 J 747 27

A) B 97T § THFAT F TF FAT F3 ZAT 3]
B) =% wefvae A=A 2)

C) & wefras 79=7 (FHa79 ) 31

D) WX fHHTET A, AT M4 F 977 &

111) In a pipe of diameter 5 cm, water is flowing at a
rate of 8 cm/sec. If the dynamic viscosity of water is
1.6"10% Pa s, what type of flow is present?

Mﬁninar flow
2

B) Transient flow
C) Turbulent flow

D) Cannotsay  \

111)5cmma‘t‘%@m#wﬁ8cmlsecﬂ—‘
T T 81 T2 qt T STaariiys Feanady 1.6°10% %
s €, a1 g v W # wEE 32

A) AT T (et )
B) zifidz vt

C) =TS VAT (el T4TE)
D) & %1 ST FrwAr

Page 132 of 144
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i

2 Fil in the planks with the appropriate word(s)
f :
om the opean®:
friction is also known as Coulomb's

B) Kinetic

c) Dry
D) Fluid

113) A body of mass 16 kg is accelerating at a rate
of 5 ﬂ§§92 when a force F is applied to it. If the

coefficient of friction of the surface is 0.25, what is the
external force F acting upon the body?

#7180 N 5

B) 100 N l(’/
C)120 N

D)80O N

114) In a uniform | section beam, where does the

largest shear stress act?

A) At any |ocation in beam

Mt Neutral axis

C) At the top most layer in beam

D) Shear stress is uniform throughout the cross

section

S

A) Frr # ffy off T T

112)%@&&3&39@(9@)#%%?*?@%
$form

_ odorargere o F = § o SO S
2l

A) e
B) FTEfe
C) 3

D) w{=s

113)@%!'«Fmaﬁw1s kg AT FTOF (95 5
m/sec“ﬁﬂ%aﬁﬁ%ﬁ@%aﬁm%mﬂm
(WWW)O.ZS%,H"T&?WWWFW
Eadl

A) 180 N

B) 100 N

C) 120N

D) 80 N

114)@W|Wﬁﬁqﬁ.mwwr§mm

B) 7@ ST&Y qX
C) &w ¥ "arH FAE 9T 9%
D)fgﬁ‘rmﬁ?smﬁwp}ﬁwm‘%
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115) Which of the following is the shaft that runs 115) Refarfed & & 7 a1 ome ¢ 5 o

parallel to the main shaft and carries pinions on it? ~ FHTATAL FeTdT g I ﬁfﬁ'q:rnga-r%.? )

A) Pinion Shaft A) fffrae amve
B) Counter Shaft B) 132X ATF
C) Bevel Shaft C) 3« aTH
. D) Spiral Shaft v D) €T STHE
@) o
7@ 116) From the given image of a Watt governor, 116) a1 e it Rw u e 7, Prefafe ﬁ"”’h
identify the following: Eas
1.Bevel gear 1. qao iz
2.Bell crank lever 2. I Feh e
3.Spindle 3. e
A C
D D E
§ G [
* I
F-—.
A) 1

F

D

3.6~ 26

B) 1.F B)1.F
20 2.C
3.E 3.E
C)1A C)1.A
2.G 2.G
3.D 3.D
D) 1.B D)1.B
2D .D
3G 16

Page 134 of 144
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4

i _ the maximum ! .
possible radius of a 117) 90
MPa % sfirgaw wfrt
2w T 719 ik

Lo
i of thickneSS 1 cm made of a metal
| 4 » Jlowab'e tress as 90 MPa that can hold %gf%mﬁ e AT
[ : .
| intef“”' oressure of 15 MPa without failing? 15 MPa 1 s 74 78 AR &7
| 37'
h 7L& A) 0.24 m
4 <
202 \S /,)/ B)24m
ohm
Va %4 %& \Wf(‘\/ C)0.42m
»\0,12 m C)\ g s C
v L O/ D) 12m
L ¢ L
" b -
5 The ™2 of  certain 2O is,15.9 when tis 118) T A AT 15 g%ﬂa‘é‘{ﬂﬁ d
i \When p|aced in water it submerges and ¥ £ qret % T@T AEATE, fwa qATs #7129 ¥
ogicates pparent maﬁgpf 129 Calculate the 7o ( az)mammg| acERd
ensty of t1S pody, taking the density of water tobe F T %, e F T 1000 kg/m*
1000 kgim? B
a° A A) 15 g/m?
Qe
A) 15 g/m® 5 (ﬁ,aoj @ g) 59/m’
B)5 gim’ G}(& \[/ ‘(;;Q'L% c) 15 kg/m
¢) 15 kg/m® Yé/”}/; b{y #‘J/ e p) 6 kg/m®
KA
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1

119) From the graph given, identify which region
represents which of the following types of friction?
1.Static

2 Kinetic

3.Limiting

Here, A is the region to the left of the dotted lines and
B is the region to the right of dotted lines. C is the line
next to which the letter is indicated.

F

119)ﬁﬁwmﬁﬁmﬁqﬁmméwm
& ey o 3 wrefor A Zertar 82 #
1. 2fes

2. FrEAfeH

3. frfafer

ﬂﬁ,A,EﬁgW%aﬁ@TWaﬁgsﬂtB'gﬁgm
¥ 212 AT F AT B CHET@T%%WWWW
T R

F

P( Applied Force)
A)A-1,B-2,C-3
\ BYA-1,B-3,C-2'
C)A-2,B-1,C-3
D)A-3,B-2,C-1

Page 136 of 144

P( Applied Force)
A)A-1,B-2,C-3
B)A-1,B-3,C-2
C)A-2,B-1,C-3
D)A-3,B-2,C-1
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s6E
m the following sets of statements on

o) Fro .
# n, identify the correct pair.

apilery actio

| capilary offect is also known as meniscus effect
1 The fall of liquid surface during capillary action is

/ nown 3 capillary depression
|1.The effect is represented in terms of mm/kg of
oo
liquid
v.The value of capillarity strictly depends only on
specific weight of the liquid &
VA d
%,

Afland Il

g) il and Il
C) il and IV
D)1 and IV

e e e

121) In a U tube manometer filled with mercury and

measuring the pressure of air in a container, the

difference in height of the two columns is 12 cm. If

the specific weight of mercury is 13.6 kglliter, then

what is the pressure measured by the manometer?

(g=10 m/sec?)

A) 0.1512 bar
B) 0.1632 bar
C) 16320 bar
D) 0.1005 bar

120)WN(WWW)WM%W
Toft &, TE A A g 7

1. 35T T (Tt 3z T AfEE T =
oft st StTaT 81
Il.ﬁ:ﬁa’ﬁr{wﬂ%aﬁrﬁﬁmwﬁm%ﬁww
(Wﬁ%ﬁ?ﬁ)%mﬁmmal
Ill.w(zﬁrﬂ)ﬁﬁﬁmﬁ%wﬁmﬁm%l
Iv.a:ﬁaﬁmmmaa%ﬁfmwwﬁﬁm

2l

INIE sdll

B) Il =i 1l
C) Il T IV
D) I dT IV

121)mﬁﬁq¢qmﬂﬁ:ﬁz¥ﬁaﬁr@a‘fewigm
%mﬁﬁ%%,ﬂﬁﬁ(ﬂ)ﬁﬁéﬁw
12 cm 2l uﬁqﬁwﬁfﬁgw(v&ﬁﬁ?%—z} 13.6
kglliter &, A7 ARTHIET ETT v AT =TE W F#4 (g=10

m/sec?)

A) 0.1512 bar
B) 0.1632 bar
C) 16320 bar
D) 0.1005 bar

Page 137 of 144
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122) Which of the following statements about unused 122) " AT =iz & It H#a 7 AT mﬁ
heat from an energy source in a steam power plant #12) % 1% # Fwfefed & & 17 a1 s oy 3

is correct?

A) Is not used by economiser

B) Is used to cool the steam in condensor

C) Is directly released to atmosphere

D) Is used to preheat feed water and superheat the

generated steam

b+

A) THIAIHTEST ZTT ITART T Br syray 3
B)W%Wﬁmm%ﬁwmﬁﬁmms
C) #rer araraor # FrET (Fefier) srar 2
D) ftz ATz F TEA A TH FA 47 3oy ™
UTEYE FA F o7 ST ey v &

123) Select the most appropriate option to fill the

blank.
Francis turbine is used where head available H

(meter) is

A) 700<H<1000
B) 50<H<400
C) 10<H<30

D) H<10

123) fief wamm A1 9fd F for F2iford 3w o,
I F
(=) ___#

A) 700<H<1000
B) 50<H<400
C) 10<H<30

D) H<10

124) What will be the discharge of a single-cutting

124) 7% 97 F uF Rere? F7 8757 0.5 m22, v =7

pump, if it has one cylinder of area 0.5 m?, and stroke £ aTE 10 cm & < 97 £ wfa 120 rpm 2, 77 -
of length 10 cm and pump has a speed of 120 rpm?  Ff&T 47 & few=rst si7q F31

| g 4(5"/
A) 1md/s c;',{\o"\ 0
B) 0.1m?/s
C)0.01m3/s \0
‘tl \
D) 0.001 m*/s o et
62

A) 1md3/s
B)0.1m3/s
C)0.01 m3/s
D) 0. 001 m3/s
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it
ma 25 kilogram wooden block 125) T =13 25 frwiras: ¥ 7t ¥ gz A 0.2 F T
A

ma

) ough surface with a coefficient of friction of 0.2. ri= (e Frfirfirz) ¥ g 77=dl 778 T Rl

on? the rate of acceleration of the block if the man
is

pat 2 force of 100 N horizontally?

m%wﬁaxﬁﬁmONﬂa?ﬁRwanm%ﬁT’lﬁ*

=7 $1 77 (72 W AFTI) T TN
(g = 10 m/sec?)

A) 2 m/s?
B) 10 m/s?
C) 5 m/s?
D) ==t e 3w & o 7% T &

ies
2
pf:o m/secz)
(gf
s
- i
g) 10 M/s
¢) 5 m/s*
p) The plock is moving at constant velocity
et
o B
\.2 \ 5y - ‘ =V
o -
" -
M
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